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QUESTION 1

What are the scheduling algorithms for elastic load balancing?
A. Weighted least connections

B. source IP algorithm

C. Weighted random method

D. Weighted polling algorithm

Correct Answer: ABD

QUESTION 2

When creating a database instance, which of the following options does not need to be configured?
A. Database engine and version

B. Port number

C. Storage space

D. Instance specifications

Correct Answer: B

QUESTION 3

ECSs in different AZs of the same region cannot access each other.
A. True

B. False

Correct Answer: B

Reference: https://support.huawei.com/enterprise/en/doc/EDOC1100062377/4f5ef30/region-and-az

QUESTION 4

Which services of HUAWEI CLOUD El are used in loT solutions?
A. Graph computing service GEs

B. Data access service Dls

C. MapReduce service MRS
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D. Real-time streaming computing service CloudStream

Correct Answer: ABCD

QUESTION 5

After creating a backup strategy, you can bind the cloud disk in the state () to the backup strategy.
A. Transfer of ownership

B. Available

C. Error

D. Recovery failure

Correct Answer: B
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